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DO (+3) + (=5) = (-4 + (=5 = @(=1) + (1) =
e AT . R e A DL .
-0 -5 0 5 10 -0 -5 0 5 10 -0 -5 0 5 0
@(=2) +(-6) = @(-1) +(-2) = @ (=3) + (+8) =
e A . e R R A .
10 -5 0 5 0 -0 -5 0 5 10 -10 -5 0 5 0
@ (+4) + (-9 = ®(=2) +(-2) = @(—=2) +(=3) =
A DI . e DA e DA .
“10 -5 0 5 0 —10 -5 0 5 10 -0 -5 0 5 10
@ (+4) +(-8) = @ (-1 +(=3) = @ (—=2) + (+4) =
A DI . A DL e DA
“10 -5 0 5 0 —10 -5 0 5 10 -0 -5 0 5 10
®(=2) + (+5) = ®(+7) + (-9 = @ (=3) +(=3) =
e DA . e L R DA
“10 -5 0 5 0 —10 -5 0 5 10 -0 -5 0 5 10
© (+2) + (=7) = @ (+1) + (=3) = @ (—5) + (+8) =
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“10 -5 0 5 0 —10 -5 0 5 10 -0 -5 0 5 10
@D(=6) + (+7) = @ (+2) + (=3) = @ (+3) + (=6) =
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“10 -5 0 5 10 10 -5 0 5 10 -0 -5 0 5 10
®(=1) + (=5 = @®(—1) + (+6) = @ (=5) + (+6) =
~1 -1 -5
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@ (=5 + (+9) = ®(=2) + (=5) = @ (+3) +(=9) =
A . e AT R DA
~10 -5 0 5 0 ~10 -5 0 5 10 ~10 -5 0 5 10
(=3) + (+7) = @ (=2) + (+8) = @) (+8) + (=9) =
e A . e AT e 8
~10 -5 0 5 0 ~10 -5 0 5 10 —10 -5 0 5 10
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BRO7LREZLEI N,
DO(+3) + (=5 =| -2 @M(—4) + (=5 =| -9 @(-1)+((=1)=| -2
1 | 1 l-':3l 1 P - 1 |_A4l n 1 1 1 1 P - _All 1 1 o
-0 -5 0 5 10 -0 -5 0 5 10 -0 -5 0 5 0
@(=2) +(-6)=| -8 @((-1)+(-2)=| -3 @(—3) + (+8) =| +5
e A . e R R A .
10 -5 0 5 0 -0 -5 0 5 10 -10 -5 0 5 0
®(+4) + (-9 =| -5 ®(=2) +(=2)=| -4 @(—2)+(-3)=| -5
1 | 1 lﬁ:4l P - 1 1 I_Azl 1 1 1 1 1 I_Azl 1 1 1 o
“10 -5 0 5 0 —10 -5 0 5 10 -0 -5 0 5 10
@ (+4) + (—8) = —4 @(—1) + (—3) = —4 @ (—2) + (+4) = +2
1 | 1 lﬁ:4l P - 1 | _AII 1 1 1 1 I_AZI 1 1 P -
“10 -5 0 5 0 10 -5 0 5 10 -10 -5 0 5 10
®(=2) + (+5) = +3 ®(+7) + (—9) = -2 @ (—=3)+ (=3 = -6
1 1 I_Azl 1 1 P - 1 | 1 1 l-':7l 1 1 1 I_Agl P 1 P -
“10 -5 0 5 0 10 -5 0 5 10 -10 -5 0 5 10
® (+2) + (=7) = -5 ® (+1) + (=3) = -2 @ (—5) + (+8) = +3
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~10 -5 0 5 0 —10 -5 0 5 10 -0 -5 0 5 10
@D(=6) + (+7) =| +1 @((+2) +(=3)=| -1 @ (+3) +(=6)=| -3
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® (1) + (=5 =| —6 ®(—1) + (+6)=| +5 @(—5) + (+6) =| +1
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@ (=5 +(+9) =| +4 ©(=2) + (=5 =| =7 @(+3) + (=9 =| -6
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~10 -5 0 5 0 ~10 -5 0 5 10 ~10 -5 0 5 10
w(=3) + (+7) = +4 2 (—2) + (+8) = +6 G0 (+8) + (—9) = -1
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